e Name:

" Order of Operations

Solve the equations.

1.20+8 x4 =

2.7X6+4X4: BIMDAS

3.42+-7+8x8= Brackets

4.15+9 x5+15 = Indices
Multiplication

D.IXT+4X3=___  pivision

6.36 -6 x5-= Addition

7 82-9 %9+ 20 - Subtraction

8.4x12+3 x4-=

9.6 x12+3 x 3=

10.12 +12 x 12 =

Worksheet 1




Jambe  Answers

" Order of Operations

Solve the equations.

1.20+8x4=52
2.7x6+4x4=58
3.42-7+8x8=70
4.15+9x5+15=7H
. 7x7+4x3:=61
6.36+6x5=30
7.82-9x9+20=21
8.4x12+3 x4=60
9.6 x12+3 x 3 =81

10.12 +12 x 12 = 156

Worksheet 1

BIMDAS

Brackets

Indices

Multiplication

Division
Addition

Subtraction




